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FN: SSHSE
g NSSsSH 243
el slgols T4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SsHsdn 1,489,234 1,206,719 282,515
Xl 111,000
< 10,000
Al 1,368,234
ANASsH 243t 1,456,050 1,173,535 282,515
Xl 111,000
< 10,000
Al 1,335,050
gyote =4 234,000 90,000 144,000
Xl 86,000
Al 148,000
NAdz2ds (Ao SSH 2435 HE =) 72,000 0 72,000
Xl 36,000
Al 36,000
201 2et2d]| 7,000 0 7,000
Xl 3,500
Al 3,500
01 At 2teltl 2,000 0 2,000
O XNASSHELAY 2,000
X 1,000
Al 1,000
03 A2 Z Hl 5,000 0 5,000
OCREEHINSSSHELSAY 5,000
Xl 2,500
Al 2,500
307 21201 A 65,000 0 65,000
Xl 32,500
Al 32,500
02 ItFAAHE X 65,000 0 65,000
OFTXNASSHELI ALY 65,000
Xl 32,500
Al 32,500
OrE22sHdEds XN 12,000 12,000 0
201 £Br2dH| 7,000 7,000 0
01 At 22/l 7,000 7,000 0
O33N Y 7,000
203 R =& 3,000 3,000 0
03 A F=XH S =ZH| 3,000 3,000 0
O=SH AHLE ALY 3,000
308 XXIEHHSOIA 2,000 2,000 0
07 IXNHMARE = 2,000 2,000 0
OntSSINLSFLE2AG XA 22 2,000
NEdz2ds (0SS sthe SSH Z2HE) 100,000 0 100,000
X 50,000




A B2SsSHEH
HEM: XEZ2SsH 243
el slgols T4 (S5 &)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 50,000
201 LBt Y| 11,000 0 11,000
Xl 5,500
Al 5,500
01 AP 22| d| 6,000 0 6,000
O0ISJ1X2 8thles E2SsSHEZRE 6,000
Xl 3,000
Al 3,000
03 HAI2 G Y| 5,000 0 5,000
O0ISJIXAY StXle EsHEZME 5,000
N 2,500
Al 2,500
307 2iz2to| A 67,000 0 67,000
Xl 33,500
Al 33,500
02 QIZ2IAAAIE E X 67,000 0 67,000
O0ISJ1X2 sthls EsHEZRE 67,000
Xl 33,500
Al 33,500
402 SI2vXHE0| ™ 22,000 0 22,000
N 11,000
Al 11,000
02 QX2 A E X (0| XM THSH) 22,000 0 22,000
O0SJIXAY 8tXle BEsSHEZME 22,000
Xl 11,000
Al 11,000
FEAMBSH 224 50,000 0 50,000
401 AIEHIZ 201 Y| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OJTAZBSH B2UxX4H AIY 50,000
ssH 4 343,000 324,100 18,900
25d SSH 243 AFY 327,000 307,000 20,000
201 Bt 4d9H]| 10,000 10,000 0
01 AP 22| H| 10,000 10,000 0
O2FdZ2sSHAIE 82 S 10,000
307 QI2t0| ™ 317,000 297,000 20,000
02 QI2tAAMAIE E =X 317,000 297,000 20,000
O2FdEsHAYE =& 317,000
ATH DSTSHAL 16,000 17,100 £1,100
307 212t0| ™ 16,000 17,100 A 1,100
02 QIZHE AAIE E X 16,000 17,100 A 1,100
O'EA W ZSHAME XA 16,000




2AM: sSsSHsHY
=

M. N93sH 243
e folotA XS (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oIl A XA 804,050 759,435 44,615
oH OISt A AL 804,050 759,435 44,615
101 2124 d| 482,590 415,025 67,565
04 JIZtHIZ2E2XNESE 482,590 415,025 67,565
OdIdtA At 482,590
[ JelFals]l 424,947
-8, HA=4EH]l  115,272& *300L *8H x109% 301,552
-F=H=X 94,3383 *300 *4H x109% 123,395
[ ZANESR= 424,946,000 *13% 55,243
@ Ll =H| 200,000& =124 2,400
201 et A | 128,460 140,460 A 12,000
01 AFR2t2ldl 106,860 118,860 A 12,000
OdHIldt A At 106,860
Q@dllIiotRAHE 24|
10,000, 000& =44 Al £ 40,000
O=E=HE 3,500
Q@dlIlotAME Fo1HH| 2,400
[ I==qsll 3,360
[ P=aIbNy=d 1,200,000 *12& «4J4 &l & 57,600
02 35294l 21,600 21,600 0
OdIotRA 329 H| 21,600
@===2%Hl &« HA 3,000,000 x4 04 Al £ 12,000
@ XA BHH| 200,000 x12& 44 Al & 9,600
202 (4] 6,000 6,000 0
01 2L Y| 6,000 6,000 0
OdIdt A At 6,000
@ 2Ly 100,000& x4 x12& 4,800
@22 1,200
206 M= Hl 160,000 169,950 A 9,950
01 X2 bl 160,000 169,950 A 9,950
OolIldtA At 160,000
O ANHI AT P 31,800,000 =44 &I E4 127,200
OFUEWAMYE a2 30,850
QXL IHE FAXTH S =S M7 1,950
301 dEtEAZ 2,000 3,000 A 1,000
11 IIEtE &2 2,000 0 2,000
OANQIFE BN (ZAEY 5) 2,000
401 Al HI L £ 0HHI 25,000 25,000 0
01 A& Hl 25,000 25,000 0
Ol0IS2MA 3L A 25,000




FN: SSHSE
Ha: NAZSH 2o
22 sZE0E2 SSHAMY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sZE0ts SsHAY 75,000 0 75,000
X 25,000
< 10,000
Al 40,000
MAMOSFED] AP (DI = SHA) 25,000 0 25,000
< 10,000
Al 15,000
307 2I2H0I A 25,000 0 25,000
< 10,000
Al 15,000
02 It S AHE L 25,000 0 25,000
OZ0lso, NRHAN Ast, WES0 =
= 25,000
< 10,000
Al 15,000
MMOISOHSED] AL (AFZE 22l &) 50,000 0 50,000
Xl 25,000
Al 25,000
402 RI2FXt20l ™ 50,000 0 50,000
Xl 25,000
Al 25,000
02 It 2 AL EZ (O TH ) 50,000 0 50,000
OMNSBANE HE=, ==&Hl LM S 45,000
Xl 22,500
Al 22,500
Odet=E ItstS)| g=8dy A48 5,000
Xl 2,500
Al 2,500
HE2LZH (S SHSLEL) 33,184 33,184 0
Jl2ZH(2sH=s481) 33,184 33,184 0
gyl (ssHs41t) 33,184 33,184 0
201 L2l 14,344 14,344 0
01 At 22l 14,344 14,344 0
O Eer2HH| 8,800
O=etl 5,544
202 o4dl 15,840 15,840 0
01 = LH o4 1l 15,840 15,840 0
OJl2g =0 15,840
203 YR =&t 3,000 3,000 0
04 EA2ZYRFLH| 3,000 3,000 0
ORA2gH JRF=&H| 250,000& 122 3,000




